FEHR | EhBEAR | #E K4 B S B D T | IPF POINT BEEH

1 63 EEWR RN | BBARFF 62.9 132.5 70( 157.5 360 624.20| EEfK 1AL

2 57 BER | BE |BAKRE 56.2 122.5 60| 152.5 335 612.57| R EMR 1L

3 63 EER | RR (KBE <Y 62.6 140 70 135 345 598.84| 7 + —3 2 7 —3fif
4 57 BER | ) | LER=E 56.45 | 1225/ 725| 130 325 592.11| 7 # — 3 25 —4f
5 57 BBk | TE | Ktk 56.65 115 65| 145 325 591.05( 7 # — 2 2 5 —5fu
6 57 BEk | HE |FibicE 56.45 | 110.0 | 65.0 | 147.5 [ 322.5 587.3 74— 25 —6f1
7 47 BEk | ®E | EE 46.85 105 52.5| 135| 2925 585.05| 74 — 3 25 —7fu
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8 69 BEMR | BN (LT <v 66.35 125 725| 135| 3325 561.31| %=

9 63 BEMR | BER (BH AT 59.85 | 107.5 75| 1325 315 556.88| X =

10 52 EER | BR |KH ER 51.8 90 55| 147.5| 292.5 553.67| X =

11 47 BRE | #R)N [BREAET 45.1 100 50| 122.5| 2725 553.44| K &

12| 47 BRER | #R)|TE®RT 45.5 95| 525| 125| 272.5 550.62 |k =

13 63 BEHR | FE |[EIKE 61.45 110| 67.5| 1375 315 549.97| k&

14| 84+ | EEHK | K (WL & 89.75 145 80 140 365 544.22| % &

15 52 BER | BER |[IWHF ST 50.95 110 55| 117.5| 282.5 538.07| Xk =

16 76 BEHR | XE |HI BR 72.24 105 65 160 330 536.79| XK &=

17 52 BREW | #R) [EEEHRSE 51.15 100| 57.5 120| 2775 526.77|k &

18 76 BEMR | Rl |[HERE 74.3 115 75 125 315 506.3 K=

19| 52 gEfk | =R [5H =R 51.8 90| 52.5| 122.5| 265 498.06 |k =

20 76 BEMR | AR | RIFAZE 74 110| 62.5| 1275 300 482.85 K =

21 63 FER | BE [IEER 61.4 100| 525 125| 2775 482.40| 5

22 57 BER | =R [ FT 56.6 100 50 115 265 477.05 K =

23 69 BEHR | "R |EEEHE 68.75 110 65 110 285 472.33| k=

241 69 BER | TE |BEHDH 64 87.5| 47.5| 1325 2675 456.08 |k =

25 52 EER | LAER [lENER 49.9 87.5 50| 102.5 240 455.81 k=

26 69 BEMR | AR |[REAEF 67.1 90 70 100 260 43432k

27 47 BER | BER (A BT 46.55 75| 42.5| 1025 220 428.79| =

28 63 B2 | BRI |NBFEF 59.9 95 45 105 245 42814k =

29 47 BER | ER |[ZKER 46.6 775 45 90| 2125 412.18| 5

30 57 BER | ER |BEAE 56.3 80 40 110 230 41136k =

31| 52 BRER | #R)|AHFET 51.45 65 40| 102.5| 207.5 382.95| % =




